                                      TRIGONOMETRIC EQUATIONS                           .
1. Give the solutions to the following equations in both

degrees where 0 ( x ( 3600
and rads where 0 ( x ( 2π
(a) sin x = 1 

                   √2

(b) cos x = 1 
                  2

(c) tan x = √3

(d) sin x =  –√3 
                      2

(e) cos x = – 1 

                       √2

(f) tan x = –1 
(g) sin x = 0

(h) cos x = 0

(i) sin x = 1

(j) cos x = –1

(k) sin x = 0.3
(l) tan x = 2.6

2. Find the general solution in degrees:

(a) sin 2x = 1

(b) cos(3x) = 1
ANSWERS.

1. Give the solutions to the following equations in both

degrees where 0 ( x ( 360
and rads where 0 ( x ( 2π
(a) sin x = 1 

                   √2

x = 45, 135 or

x = π ,   3π
      4       4

(b) cos x = 1 
                  2

x = 60 , 300  or

x =  π ,   5 π
       3      3  

(c) tan x = √3

x = 60 , 240  or

x = π   ,    4 π
      3         3

(d) sin x =  –√3 

                      2

x = 240 , 300  or

x =   4 π  ,   5 π
         3         3

(e) cos x = – 1 

                       √2

x = 135 ,  225  or

x =  3 π  ,   5 π

        4         4

(f) tan x = –1 

x = 135 ,  315  or

x =  3 π ,  7 π
        4       4
(g) sin x = 0

x = 0, 180, 360  or
x = 0, π , 2π

(h) cos x = 0

x = 90 , 270  or
x = π  ,   3 π

      2       2

(i) sin x = 1

x = 90   or
x = π
      2 

(j) cos x = –1

x = 180  or
x = π

(k) sin x = 0.3

x = 17.5 , 162.5   or
x = 0.305 ,  2.836

(l) tan x = 2.6

x = 69, 249  or
x = 1.204 , 4.346

2. Find the general solution in degrees:

(a) sin 2x = 1
                   2

2x = 90 + 360n, 

x  = 45 + 180n
(b) cos3x = 1

    3x = 0 + 360n

      x = 120n   
